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CTET Paper 1 - 31 December (Memory Based)

CTET Paper 1: CDP

Which of the following is not a feature of child-centered education?

Ans: [t stresses on timely completion of the syllabus

A five-year-old child thinks that because he enjoys running around, his mother also enjoys it. Thus,
he forces his mother to run with him. This is known as

Ans: Ego centrism

What did Vygotsky call ‘self-talk’ or a child ‘thinking out loud’?

Ans: Private speech

Students who can effectively express their thoughts show ___intelligence.

Ans: Linguistic

The sense of right or wrong is mostly associated with

Ans: Morality

Which of the following statement is most appropriately define the term inclusion?

Ans: Educating children with special needs full time in the regular classroom

According to Jean Piaget’s stages of cognitive development, the sensory motor stage is associated
with

Ans: Imitation, memory and mental representation

Which one is an example of developmental disorder?

Ans: Autistic spectrum disorders

| www.teachersadda.com www.sscadda.com www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q1.

Q2.

Q3.

Q4.

Q5.

CTET Paper 1: Mathematics

Suman gives 500/- to her son Ramesh and asks him to give 263 /- to the grocer, and 149/- to the
vegetable seller, how much money will Ramesh have?
Ans: 88 /-

A train running at a speed of 45 km/hr crosses an electric pole in 16 sec, then what is the length of
the train?
Ans: 200 m

Which is different in 36,49,64,81,121,223
Ans: 223

When a number is divided by 666, the quotient is 200 and the remainder is 100, then find the
number?

Ans: 666 x 200 + 100

=133400

What is the area of the largest circle drawn in a rectangle 148 cm long and 14 cm wide?
Ans: 154

A man leaves at 11:30 AM on 30t June and reaches 15t July at 5:40 PM, then how much time will

his journey take?
Ans: 30 hour and 10 minutes

CTET Paper 1: EVS

Choose the correct planet which is smaller in size than the Earth.
Ans: Mercury

Amarbel is an example of
Ans: Parasite

Jute fibre is obtained from part of Jute.
Ans: Stem

Beriberi disease is caused doe to the deficiency of
Ans: Vitamin B

A chapter in the NCERT book of class V named ‘Sunita in space’ shows
Ans: Real people and their real life experiences
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Why the chapter ‘BLOW HOT,BLOW COLD’ is added in the syllabus of primary level ?
Ans: To helps students understand the difference between warmth and cold

What color is iodine on litmus paper?
Ans: It will turn blue litmus paper to red

Which is the best method to teach EVS?
Ans: Field visit
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